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[bookmark: _Toc21101611][bookmark: historyclause]L.7	EVM
L.7.0	General
For EVM create two sets of , according to the timing  and , using the equalizer coefficients from L.6.
The equivalent ideal samples are calculated from  (annex L.2.2) and are called .
The EVM is the difference between the ideal signal and the equalized measured signal.

Where:
-	T is the set of symbols with the considered modulation scheme being active within the slot,
-	 is the set of subcarriers within the resource blocks with the considered modulation scheme being active in symbol t,
-	 is the ideal signal reconstructed by the measurement equipment in accordance with relevant test models,
-	  is the equalized signal under test.
NOTE:	Although the basic unit of measurement is one slot, the equalizer is calculated over the entire 10 ms measurement interval to reduce the impact of noise in the reference signals.
[bookmark: _Toc21101612]L.7.1	Averaged EVM (FDD)
EVM is averaged over all allocated downlink resource blocks with the considered modulation scheme in the frequency domain, and a minimum of  downlink slots where  is the number of slots in a 10 ms measurement interval.
The averaging in the time domain equals the  slot duration of the 10 ms measurement interval from the equalizer estimation step.

Where  is the number of resource blocks with the considered modulation scheme in subframe i.
The EVM requirements shall be tested against the maximum of the RMS average at the window W extremities of the EVM measurements:
Thus  is calculated using  in the expressions above and  is calculated using  in the  calculation where (l and h, low and high; where low is the timing  and high is the timing ).
Thus:

The averaged EVM with the minimum averaging length of at least  slots is then achieved by further averaging of the  results:

Where

The resulting  is compared against the limit.
[bookmark: _Toc21101613]L.7.2	Averaged EVM (TDD)
Let  be the number of slots with downlink symbols within a 10 ms measurement interval. For TDD, the averaging in the time domain can be calculated from  slots of different 10 ms measurement intervals and should have a minimum of  slots averaging length where  is the number of slots in a 10 ms measurement interval.
  is derived by: Square the EVM results in each 10 ms measurement interval. Sum the squares, divide the sum by the number of EVM relevant locations, square-root the quotient (RMS).

Where  is the number of resource blocks with the considered modulation scheme in slot i.
The  is calculated, using the maximum of at the window W extremities. Thus  is calculated using  and  is calculated using (l and h, low and high; where low is the timing  and and high is the timing ).

In order to unite at least  slots, consider the minimum integer number of 10 ms measurement intervals, where  is determined by

And for FR1,  for 15 kHz SCS,  for 30 kHz SCS and  for 60 kHz SCS normal CP. For FR2,  for 60 kHz SCS and  for 120 kHz SCS.
Unite by RMS.

The resulting  is compared against the limit.
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